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SECTION A — (10 × 2 = 20 marks)

Answer ALL questions.

1. Define Accounting.

2. Aditya has invested `50,000 as capital and 10% interest is to be provided. Pass adjustment entry for interest on capital.

3. What are called as non-profitable organisations?

4. Find out the amount of salary to debited to income and expenditure for 1999 from the details given below:

	
	     `

	Payments made for salaries during 1999

Outstanding salary as on 31.12.1998

Outstanding salary as on 31.12.1999
	48,000

2,000

3,200


5. What is meant by Rectification of errors?

6. Rectify the following errors:

(a)   Purchase book is carried forward ` 500 less

(b) Sales book is carried forward ` 3,500 more.
7. Mention any 2 importance for providing Depreciation.

8. A company purchased a plant for `50,000. The useful life of the plant is 10 years and the residual value is ` 20,000. Find out the rate of depreciation under straight line method.

9. Give any 2 features of single entry.

10. Find out the profit from the following data

	
	       `

	Capital at the beginning of the year

Drawings during the year

Capital at the end of the year

Capital introduced during the year
	80,000

18,000

90,000

5,000


SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions.

11. Explain any 5 basic Accounting Concepts.

12. Pass the adjustment entry and prepare the ledger account.

Total salary is `12,000 p.a. the salary `10,000 only paid and `2,000 yet to be paid is outstanding.

13. Give short note on:

(a) Subscriptions

(b) Legacy.

14. Prepare the Income and Expenditure Account


	
	     `

	Opening stock


Opening creditors

Payment during current year

Sales

Closing stock

Closing creditors
	12,000

5,000

42,000

1,000

15,000

6,000


15. Following errors were detected in the accounts of Aditya & Co as on 31.3.2014.

(i) A builder’s bill ` 2,700 for the erection of a small shed was debited to repairs account.

(ii) A cheque for `300  received from Vishnu sons was dishonoured and debited to allowances account.

(iii) Goods to the value of Rs.150 returned by Jai brothers were included in stock, but no entry was made in the books.

(iv) Repairs to plant amounting to `567 has been charged to plant and machinery account.

(v) A sum of `100 drawn by the proprietor for personal use was debited to travelling expenses account.

16. From the following transactions prepare Bank reconciliation statement as on 31.8.2010.

(a) Bank balance as per cash book `8,000

(b) Cheques of `1,000, 2,000 and 3,000 issued on 8th, 10th and 13th of August. Of these a cheque issued on 10th only was not presented for payment till 31st August.

(c) Interest and divided collected by the banker on 25th August and informed the customer on 1st September `500

(d) Cheques of `3,300 deposited into bank of which a cheque of ` 2,300 only collected in August.

(e) A cheque of `2,000 received and debited in cash book but not sent to bank till 31st August.

17. A fire occurred at the premises of a trader on 31.5.94 destroying a great part of his goods. His stock at 1.1.94 was `60,000. The value of stock salvaged was `13,500. The gross profit on sales was 30% and sales amounted to `1,53,000 from January to date of fire, while for the same period the purchases amounted to `1,03,500. Prepare a statement of claim.

18. From the following information ascertain opening stock (as on 1.1.96)

	
	`

	Purchases made during 1996

Sales made during 1996

Stock on 31.12.1996

Wages

Rate of gross profit on cost
	2,50,000

3,25,000

60,000

3,000

25%


SECTION C — (2 × 15 = 30 marks)

Q.No.19 is compulsory and any ONE from the remaining TWO questions.
19. Rama commenced business on 1.1.89 with a capital of `25,000. He immediately bought furniture for `4,000.  During the year, he borrowed `5,000 from his wife and introduced a further capital of `3,000. He has withdrawn `600 at the end of each month for family expenses.  From the following particulars obtained from his books, you are required to prepare Trading and P & L A/c and Balance Sheet  as on 31.12.89.
	
	        `

	Sales (Including cash sales of `30,000)
Purchases (Including cash purchases of `10,000)
Carriage

Wages

Discount allowed to debtors

Salaries

Bad debts written off

Trade expenses

Advertisement
	1,00,000

75,000

700

300

800

6,200

1,500

1,200

2,200


Rama has used goods worth `1,300 for private purposes and paid `500 to his son which is not recorded anywhere.  On 31.12.89, his debtors, were worth `21,000 Creditors `15,000 and stock in trade `10,000.  Furniture to be depreciated at 10% p.a.
20. The following are balances of Shri Gupta as on 30.6.2010 prepare Trading, Profit and loss A/c and Balance Sheet.

	
	Debit

      `
	Credit

  `

	Cash in hand

Cash at bank

Purchases

Returns inward

Wages

Fuel and power

Carriage on sales

Carriage on purchases

Stock (1.7.2009)

Buildings

Freehold land

Machinery

Investments

Patents

Salaries

General expenses

Insurance

Drawings

Sundry debtors

Sales

Return outwards

Capital 

Sundry creditors

Rent 
	540

2,630

40,675

680

8,480

4,730

3,200

2,040

5,760

22,000

10,000

20,000

10,000

7,500

15,000

3,000

600

5,245

14,500


	98,780

500

62,000

6,300

9,000


Adjustments:
(a) Stock on hand 30.6.2010 is 6,800

(b) Machinery is to be depreciated at 10% and patents at 20%
(c) Salaries for the month of June, 2010 amounting to `1,500 were unpaid.

(d) Insurance includes a premium of Rs. 170 on a policy expiring on 31.12.2010.

(e) Bad debts are `725.

(f) Rent received in advance `1,000

(g) Interest on investments of `2,000 is accrued.

21. A company whose accounting year is the calendar year, purchased on 1.1.93 a machine for Rs. Rs. 40,000. It purchased further machinery on 1st Oct, 1993 for `20,000 and on 1st July 1994 for `10,000. On 1.7.95, ¼ th of the machinery installed on 1.1.93 became obsolete and was sold for ` 6,800. 
Show the machinery account would appear in the books of the company for all the 3 years under Diminishing Balance method. Depreciation is to be provided at 10% p.a.
-----------------------------
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